
afudtL ufpFkflnsf j8f g+= # e6\6]8fF8f

zLif{s /sd /sd

;fdflhs ljsf;

afnaflnsf nlIft lbjf vfhf sfo{qmd -e6\6]8fF8f, e}F;], 

of:kf, af3ef}/j ljBfno_
200000 @ nfv 

lgn]Zj/L dlGb/ lgdf{0f 50000 %) xhf/

5k]nL vfg]kfgL l/he{ 6\ofª\sL lgdf{0f 100000 ! nfv 

Ps blnt kl/jf/, Ps kf8f kf8L ljt/0f sfo{qmd 150000 ! nfv %) xhf/

dlxnf pBdL ljsf; cGtu{t afudtL ;fa'g pTkfbg tyf 

tflnd
200000 @ nfv 

Hjfnf b]jL dlGb/ lgdf{0f 50000 %) xhf/

h]i7 gful/s ckfª\utf Psn dlxnf Psn k'?if k|f]T;fg 

tyf ;Ddfg sfo{qmd
50000 %) xhf/

e6\6]8fF8fdf s[i0f dlGb/ tyf ehg d08n lgdf{0f 350000 # nfv %) xhf/

;]tL b]jL dlGb/ lgdf{0f y'DsL 50000 %) xhf/

emfFqmL8fF8f :t'kf uh'/ lgdf{0f tyf 6«i6 lgdf{0f 100000 ! nfv 

5k]nL dfxfFsfn vf]N;f, sfpn]8fF8f rf]s af;uf]/]6f] af6f] 

dd{t
50000 %) xhf/

of:kf lrofg kf6L{ lgdf{0f 100000 ! nfv 

afu b]lj dlGb/ lgdf{0f 100000 ! nfv 

7f]:g]vf]nf ;tL3f6 kf6L{ lgdf{0f 150000 ! nfv %) xhf/

1700000

k"jf{wf/ ljsf; tk{m

5k]nL af3 e}/j sfpn] n]s df]6/ af6f] lgdf{0f :t/ pGgtL 500000 % nfv 

Rofg8fF8f gofF ufpF ;ftsGof a'nsL rf}/ df]6/ af6f] 

lgdf{0f tyf dd{t
500000 % nfv 

rf}tf/f 8f8' vf]nf 7'nf] rf}/ df]6/af6f] lgdf{0f 100000 ! nfv 

snjg 3\ofDk] ;Nnf x'Fb} kfvf8fF8f df]6/af6f] lgdf{0f 200000 @ nfv

of:kf df]6/af6f] ;f]lnª 50000 %) xhf/

j8f :t/Lo df]6/af6f] ddt{ 300000 # nfv

kw]F/f] rf}/ rgf}6] df]6/af6f] lgdf0f{ 300000 # nfv

1950000

cfly{s ljsf;



s[ifsx?nfO{ uf]7 tyf esf/f] ;'wf/ sfo{qmd 200000 @ nfv 

df}l/ kfng 3f/ ljt/0f tyf Joj;flos s[lif tyf kz'kfng 

tflnd sfo{qmd
100000 ! nfv 

pGgt hfsf] /fFuf af]sf vl/b tyf ljt/0f sfo{qmd 100000 ! nfv 

s[lif tyf kz' cjnf]sg e|d0f sfo{qmd 300000 # nfv

a]df};dL t/sf/L lap ljt/0f sfo{qmd 100000 ! nfv 

s[lif ljp ljhg pTkfbg sfo{qmd 100000 ! nfv 

ljB't lj:tf/ 200000 @ nfv 

1100000

jftfj/0f tyf ljkb Joj:yfkg ljsf;

k|fs[lts k|sf]k ljkt Joj:yfkg e"Ifo lgoGq0f, r6\ofª, 

cfuf] nflu, klx/f] /f]syfd sfo{qmd
150000 ! nfv %) xhf/

kf]v/L ;+/If0f tyf kmf]xf]/ d}nf Joj:yfkg 5k]nL vfaf 100000 ! nfv 

150000

ljlto Joj:yfkg z';f;g ;+:yfut ljsf;

j8f sfof{no ;'rgf k|ljlw OG6/g]6 Joj:yfkg 50000 %) xhf/

ljifout sfof{no cGt/ ;DaGw tyf sfof{no ;'wf/ 

cGt{/qmLof sfo{qmd
50000 %) xhf/

100000

s"n 5000000


